2.25T
s(r,t)zi In——+1Inz |= f+alnt &) 0 2.25T
7T v x = o £ = In —
7T 47T r-S
t [min] t [sec] Int [sec] s [m]

15 90 4.500 0.20 12

3 180 5.193 0.35
45 270 5.598 0.42

A ‘7‘58 g'g‘;g g-g; 10 y = 0.1756x - 0.5655

. . 2 _

16 960 6.867 | 0.63 08 | R*=0.99%4

25 1500 7.313 0.74 _

45 2700 7.901 0.84 o

60 3600 8.189 0.90 2 06

90 5400 8.594 0.95 =
120 7200 8.882 0.99 04 |
180 10800 9.287 1.04
240 14400 9.575 1.10

0.2 &

Q 105 m>/hr

a 0.1756 0.0 w w \ \ \
T 47.5734327 m’/hr 0 2 4 6 8 10 12

0.01321 m*/sec s [m]

r 100 m

B -0.5655

Bla -3.2195
e 0.03997581

S 0.0000744

b 20 m

K 0.00066 m/sec




t 6 hr

S 0.0000744

T 475734327 m?/hr

ry 100 m

r; 200 m

Q 105 m°/hr
s(100,7) 1.187 m
s(200,7) 0.944 m

u
u

0.000651 <0.05
0.002606 <0.05

} loxUel n Cooper-Jacob




Q 105 m*/hr
T 4757343271 m°/hr
ry 100 m
r, 200 m
S 0.0000744
S 1.245 m
S, 1.002 m
t1 8.342 hr
t2 8.342 hr
|’E)\£vxog |
yiar;=100m  u 0.000469 <0.05 } , } W(U)=[In(2.25*T*))/(r**S)
loxuel n Cooper-Jacob
yiar,=100m u 0.001874 <0.05 S(r,)=(Q/(4*T*T))*(In(2.25* T*t)/(r**S))




Q 105 m>/hr
T 47.57343 m?/hr
rq 100 m
r, 200 m
d, 0.5m
Sw 3.35m
lw 0.25 m
hy-h,, 2.348 m
s, 1.002 m
Opoiwg
hs-h,, 2.105 m
S 1.245 m

Sw-S1

Sw-S2




